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CHEMISTRY
Ques. | 46 | 47|48 |49 |50 | 51|52 [ S3[54[55(56| 57|58 (59|60 |61)62|63|64|65|66(67|(68(69](70
Ans., [ 3| 3| 1L 24241131 (14423341 ]2[3[3]4
Ques. |71 | 72| 73|74 | 75|76 |77 (787980 |81 |82)|83|84|85|86|87|88]|89]|90
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BIOLOGY

Ques.| 91 |92 (93|94 ]95]|96| 97 (98|99 (100|101]102(103|104|105/106(107 (108109110
Ans. | 3 | 3| 3| 3| 3| 1| 42432243344 2|2]3
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Ans. | 3 | 2| 2| ] 31 2] 1 1 1] 3 1|23 2212]4]3 1| 4
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Ans. | 4| 1231 3l2]3]3]|3
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14.[2] Same deviation
15.[3] Energy conserved
16.]1] B« i

17.2] 8=A(n-1)
18.[3] o= \/g A = 0°A = & x A =0.5 m/s?
L L

19.12]

Time taken by pendulum in going from A to |

- where T =2n &

g
Time taken by pendulum in going from B to ¢
_T
12
.. Time period of pendulum
T T
= 3 gt
[4 I2J
2T 2 m_ 2n
=—==.—=—sec
3 35 15

1 2
20.12] dB =10 log [H ~ 10 log {KI"' }

0 0
=10 [log (K') -2 log 1]

dB; =10 (log K'-2 log 1))

dB; =10 (log K' -2 log ;)

3=dB, —dB, = 20 log [r—ﬂ
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T : 3
= (0.3) =log| % Vi _ |
f Va f

- H _ L
I 2 h h
27.[3] A= -
Bl 10°%  9.1x107%' x3x10°
n' V+V. 5 Lv=27x10"% m/s
B v
) 28.2] Z=R
3V +3V, =5V -5V, . .
[= = = 0
V~=%=¥=85m/b R 2R

_ Eolo
22.[1] Slope:% 29.]1] <P> 5 cos ¢

3003 1= ——=6mA
v _\/22+32+42+52 2ka
ms 4 nz - (1019)2

31.13] n,=N,=10""=2n,=—"t=—21
419116125 454 S n, 10"
= 2 = 2 cm/sec

32.[1] NAND + NOT = AND

23.[4]

24.|3] heat received by earth per sec. per unit area = S

so total heat per sec = S x nr’ 33.[1] tan 6 =tan 6’ cos ¢
25.[2] The decay constant A is the reciprocal of the 34.01] .= 3 __3
mean life t. © 5042950 3000
| I,=1mA
Thus, Aq=—— &
T L 7 30 =1mA
1 1
and Ay = —— per year 1 e S
P~ 205 POV 30
Total decay constant, & = A, + Ap 1
P NS S 30
or A + = per year
1620 405 324 ) 3
: N .M o
We kn03w that N=Nje 3 S04R
When 7 th part of the sample has disintegrated,
3 pl I
N =Ny/4 351 Mo Ho
N ) 8 R 4nR
20 =N ™
4 1,1 1 1
or e'=4 36.J4] F=Hoiz [ = } x 15 cm
Taking logarithm of both sides, we get 2n [ 2cm 12¢m
At=log. 4
o i %loge 22 % I 2 37.12] By s;ymmetricgagl1 line method
_ _ VW
=2 %324 x(.693 = 449 year
A 4002
YW
26.[4] Momentum should be conserved [ 59% 30Q §1 50
m vy = mMaVvs - 300 - -
2 ortdv = 2oy,  W— 100
3 3 150
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vir = van

39./1] V=E-Ir
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40.[4] C=4neja +4“b5_oab 64.13] [Cu(NH;)]™ =
-a
41.14] a 2 I !I 4I =3 # 67.12] @_C{I‘L{H} ,@_C£H2CH3 :
ZJI =3 N-C Hv,
K @—?H—CHZCH;
42121 F= 12
121 i NH-CH,
43.14] 68.]3] o-xylla\e/ll"le is v
q % ¢
ia/) Me Me
: «—>
6 plate cover closed area = A
o & )
q 69.[3] Addition of Br- & OH followed by
1 - i intramolecular esterification.
0
K K K i
443 —d 42 2 g 73.01] CH;CH,-C-Cl; C-CH,~CH; ;
3r 3r 3r I I
qi+tqtq=0 0O 0
Kq

Kq Kq
L 2 By
r 2r 3r @CHQCHZCH;

CHEMISTRY 74.[1] Apply Saytzeff’s Rule

L2l [H]=107 - [H]=ca WRT  2.91x0.0821x 298
107 n= 80.2] M= =— ' :
a=——=01 = a= PV 1.09x1.22
n-1 = 53.47 (B4Hyo)
0.1= ;_11 = i=11 Al
Toobs = CST X i= 0.1 x R x T x 1.1 SLI4 T>—
52.[4] 2H +2¢ —»H, 82.[1] Multiply the 2™ reaction by 3 and add with
- 0.059 Py, other two reaction —
E'Rcd =E Red — 108 333 l 3
2 [H] —P,(s)+2H,(g) —> PH; AH=12keal
_ - 0.059 100 4 2 )
=0-—— log ===-005% The desired AH = 1.2 keal x 4
=—4.8 kcal
55.[1] B does not contain vacant d-orbitals.
84.[1] True
56.[1] Al passive in Conc. HNO;
85.[4] True

58.[1] XeF; & IF, are sp3d and linear shape. . )
86.[1] Due to stability of carbocation

+ +
61.[4] p= In(n+2) CH,-CHCH; > CH; -CH-CH,; >

+ +
, CH; —-CH-CI > CH; - CH-COOC,H
62.[2] CuF, = Cu'®=[Ar]3d’ n= 1, paramagnetic ? 3 2

“)



Mock Test-05 ULTIMATE TEST SERIES NEET -2020 (Answers & Solution)

87.[2] NO;and Os;are bent molecules with permanent 89.[1] 24By, <= 24By + By
dipole moments. CO; is linear molecule with 1 0 0
zero dipole moment while SiF, is tetrahedral 1l —x % x/2
with zero dipole moment. !
F K, = X X £

88.13] act - Ay 21— .\")2 1+ %
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